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Find the GCF. Use the GCF to factor each expression.
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GCF of 18 and 12: GCF of 12 and 8:
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7) 20x + 55 8) 18x-16
GCF of 20 and 55: GCF of 18 and 16:
_C + ) L= )
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GCF of 30 and 15:
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GCF of 7 and 56:

%)
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GCF of 18 and 36:
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Write the expression that | had to distribute to get each result.

1)  S5x+30 2) 3x-15 3) 8x+56
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Find the GCF. Use the GCF to factor each expression.
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Write the expression that | had to distribute to get each result.

2 10x-62) 5) 12x+8(H 6) 9x + 36 @

2 &-3) 4 Gx+2) 9 x+4)
i
o
7) 20x +5(~°5 8) 6x-—16 @ 9) 24x-12 +\?
5 e+ 1) 2 G-2) 1 (2x—1)
10) 16x—8@ 11) 15x+10(¥5 12) 9x+81 (%9
£ @-1) 5 (3+2) g (X +9)




